RESULT FOR BID RM-112681

LIQUID CHEMICAL/MAGNESIUM CHLORIDE

Division	Zone	District	Estimated Liquid Deicing Rqmt. (Gallons) (A)	Delivery Location Unit Price (\$ Per Gallon) (B)	Delivery Location Extended Price (C) = (A) x (B)
		TMD1	16,000	\$1.17	\$18720.00
		TMD1A	7,000	\$1.17	\$8190.00
Turnpike	I	TMD2	14,000	\$1.17	\$16380.00
		TMD3	10,000	\$1.17	\$11700.00
		TMD3A	7,000	\$1.17	\$8190.00
				Total Extended Amount	\$63180.00

Deicing Product Brand Name: <u>Caliber M-1000 with AP</u>

	Zone	District	Estimated Liquid Deicing Rqmt. (Gallons) (A)	Delivery Location Unit Price (\$ Per Gallon) (B)	Delivery Location Extended Price (C) = (A) x (B)
Turnpike	II	TMD4	8,000	\$1.17	\$9360.00
		TMD5	10,000	\$1.17	\$11700.00
		TMD5A	8,000	\$1.17	\$9360.00
		TMD6	14,000	\$1.17	\$16380.00
				Total Extended Amount	\$46800.00

Deicing Product Brand Name: <u>Caliber M-1000 with AP</u>

LIQUID CHEMICAL/MAGNESIUM CHLORIDE

Division	Zone	District	Estimated Liquid Deicing Rqmt. (Gallons) (A)	Delivery Location Unit Price (\$ Per Gallon) (B)	Delivery Location Extended Price (C) = (A) x (B)
Turnpike	ш	TMD8	7,000	\$1.17	\$8190.00
		TMD8A	8,000	\$1.17	\$9360.00
		TMD9	8,000	\$1.17	\$9360.00
		TMD10	15,000	\$1.17	\$17550.00
				Total Extended Amount	\$44460.00

Deicing Product Brand Name: <u>Caliber M-1000 with AP</u>

Division	Zone	District	Estimated Liquid Deicing Rqmt. (Gallons) (A)	Delivery Location Unit Price (\$ Per Gallon) (B)	Delivery Location Extended Price (C) = (A) x (B)
Parkway	IV	PMD8	9,000	\$1.17	\$10530.00
		Montvale Service Area	7,000	\$1.17	\$8190.00
		PMD7	4,000	\$1.17	\$4680.00
		ESSEX TOLLS	4,000	\$1.17	\$4680.00
		PMD7U Hillside	4,000	\$1.17	\$4680.00
		PMD7U Union (SB)	7,000	\$1.17	\$8190.00
				Total Extended Amount	\$40950.00

Deicing Product Brand Name: _Caliber M-1000 with AP ____

$\frac{\textbf{REQUEST FOR BIDS}}{\underline{\textbf{CONTINUED}}}$

LIQUID CHEMICAL/MAGNESIUM CHLORIDE

Division	Zone	District	Estimated Liquid Deicing Rqmt. (Gallons) (A)	Delivery Location Unit Price (\$ Per Gallon) (B)	Delivery Location Extended Price (C) = (A) x (B)
Parkway	V	PMD6	18,000	\$1.17	\$21060.00
		Chevalier Ave #1	4,000	\$1.17	\$4680.00
		Chevalier Ave #2	4,000	\$1.17	\$4680.00
		PMD5	9,000	\$1.17	\$10530.00
		Asbury	4,000	\$1.17	\$4680.00
		PMD4	4,000	\$1.17	\$4680.00
				Total Extended Amount	\$50310.00

Deicing Product Brand Name: <u>Caliber M-1000 with AP</u>

$\frac{\textbf{REQUEST FOR BIDS}}{\underline{\textbf{CONTINUED}}}$

LIQUID CHEMICAL/MAGNESIUM CHLORIDE

Division	Zone	District	Estimated Liquid Deicing Rqmt. (Gallons) (A)	Delivery Location Unit Price (\$ Per Gallon) (B)	Delivery Location Extended Price (C) = (A) x (B)
Parkway	VI	Pleasant Plains	4,000	\$1.17	\$4680.00
		PMD3	4,000	\$1.17	\$4680.00
		Bass River	4,000	\$1.17	\$4680.00
		PMD2	4,000	\$1.17	\$4680.00
		Great Egg	4,000	\$1.17	\$4680.00
		PMD1	6,000	\$1.17	\$7020.00
				Total Extended Amount	\$30420.00

Deicing Product Brand Name: Caliber M-1000 with AP

REQUEST FOR BIDS CONTINUED

LIQUID CHEMICAL/MAGNESIUM CHLORIDE INVENTORY ITEM 107445

LIST YOUR TOTAL EXTENDED AMOUNTS FOR EACH ZONE BID

TURNPIKE ZONE 1 <u>\$ 63,180.00</u>	
TURNPIKE ZONE 2 <u>\$46,800.00</u>	
TURNPIKE ZONE 3 <u>\$44,460.00</u>	
GARDEN STATE PARKWAY ZONE 4 <u>\$40,950.00</u>	
GARDEN STATE PARKWAY ZONE 5 <u>\$50,310.00</u>	
GARDEN STATE PARKWAY ZONE 6 \$30,420.00	

The Contract Award will be made to the responsible bidder with the lowest Total Extended Amount per each individual Zone (I-VI).